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QUESTION 1

What are the three benefits of the Oracle Applications Tablespace Model? (Choose three.)
A. takes advantage of manual segment management

B. simplifies maintenance and recovery by using fewer tablespaces

C. uses locally managed tablespaces, and enables more control over unused space

D. decreases block-packing compared to the older model, increasing the overall number of buffer gets

E. makes best use of the restricted number of raw devices available in Real Application Clusters (RAC) andother

environments

Correct Answer: BCE

QUESTION 2

You are applying a patch on the database tier. You run AutoConfig as a post installation task of the patch. But the

AutoConfig script exits with nonzero status. What should be your first action to resolve the problem?
A. Restart the patch.

B. Restart AutoConfig.

C. Check /admin/log//adconfig.log for the reported error.

D. Check /appsutil/log///adconfig.log for the reported error.

Correct Answer: D

QUESTION 3

Which piece of information is captured as part of the Patch Impact Analysis of a particular patch?
A. prerequisite patches that can be merged and applied

B. objects that would be rendered invalid after applying the patch

C. objects that would be dropped from the database during patch application

D. prerequisite patches required by the patch along with the readme of each patch

Correct Answer: D

QUESTION 4
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The Applications DBA is assigned to merge five patches without unzipping the automated release updates (ARUS), by
running the AD Merge Patch. Which UNIX command has the correct arguments?

A. admgrpch -s -d \ -merge_name -manifest

B. admrgpch -s -t \ -merge_name -manifest

C. admrgpch -s -d \ -merge_name

D. admrgpch -s -d \ -mergename -manifest

E. admrgpch -s -d \ -merge_name - manifest_name

Correct Answer: A

QUESTION 5

Identify four scenarios in the Oracle Applications R12 E-Business Suite environment in which you would need to run
AutoConfig. (Choose four.)

A. after relinking product libraries

B. after restoring a previous configuration

C. after registering products and languages

D. after using AD Splicer to add a product to the existing stack

E. after adding a new variable to the existing context parameters

F. after using the Oracle Applications Manager (OAM) shopping cart

Correct Answer. BCDE

QUESTION 6

A patch was applied successfully last night to the Oracle Applications environment to fix a bug. To check the bug fix, the
Applications DBA accessed the "Bug Fixes Report." There are 1,000 files displayed in the report. The intended file for
the bug fix does not appear. What should the Applications DBA do next?

A. Access the Timing report.

B. Check readme.txt for postinstallation steps.

C. Start the Oracle Application Manager (OAM) process.

D. Use the filter to reduce the number of files in the report.

E. Reapply the patch on the Oracle Applications environment.

Correct Answer: D
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QUESTION 7

The AD Administration task utility Compile APPS Schema is similar to the "Validate APPS Schema" task, except that
instead of just producing a list of invalid objects, it compiles invalid objects using multiple workers in an attempt to move
them back to the valid object state. This task is most often run when custom packages are moved into the APPS
schema, and during the upgrade process. The "Compile APPS Schema" task can be toggled to compile all objects or
just the invalid objects. Choose three correct benefits of using this task. (Choose three.)

A. increases run-time performance in the applications

B. corrects all corrupt schema package bodies and headers

C. finds truly invalid objects before users get a run-time error

D. allows new custom or patched packages to be immediately validated

Correct Answer: ACD

QUESTION 8

A company has implemented Oracle Applications Release 12. It wants tob configure a system that sends emails to key
database administrators (DBAs) when a tablespace in the Oracle Applications database does not have adequate free
space. Identify which component in the Oracle Applications technology layer performs this task.

A. Oracle Alert

B. Oracle Workflow

C. Oracle E-mail Notification

D. Oracle Applications Framework

Correct Answer: A

QUESTION 9

Identify three application-tier technology components used in Oracle Applications Release 12. (Choose three.)
A. Jserv

B. Oracle Developer 10g

C. Oracle JDeveloper 9i

D. Application Server 10.1

E. Oracle HTTP Server/Apache 10.1.3

Correct Answer: BDE

QUESTION 10
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You were applying an Oracle Receivables patch to your Oracle Applications ystem. The patch failed. Now you want to
revert to the older version of the files under the product AR sing the backup copy, which AutoPatch creates, before
making any changes to the existing files. Where would you find hese files?

A. $AR_TOP/backup/

B. $AD_TOP/backup/ar/

C. /backup/ar/

D. /backup///ar/

Correct Answer: D

QUESTION 11
You try to run adpatch and adadmin, but it fails with the following error:

"Your current Applications top directory does not match that of the configuration file. Please check that your
environment is correct.”

Which configuration file should you change to fix this issue?
A. config.txt

B. adcert.txt

C. adsign.txt

D. topfile.txt

E. appltop.cer

F. adconfig.txt

Correct Answer: F

QUESTION 12

As a project manager, you need to understand the concepts of the Rapid Clone utility. The Applications DBA gave you
some information about Rapid Clone. Which three pieces of information are correct? (Choose three.)

A. Rapid Clone does not take care of oralnventory.

B. Rapid Clone does not allow retaining the same port pool as that of the source.

C. Rapid Clone preserves the patch history of the complete Application Stack.

D. Rapid Clone cannot clone the test system, which is a clone of the production system.

E. Rapid Clone enables adding or removing database mount points or redistributing database files among mount points
in the target system.

Latest 120-238 Dumps | 1Z20-238 Practice Test | 120-238 Braindumps 517


https://www.certbus.com/1z0-238.html
https://www.certbus.com/1z0-238.html
https://www.certbus.com/1z0-238.html

www.CertBus.com https://lwww.certbus.com/1z0-238.html
CE RT 2024 Latest certbus 1Z0-238 PDF and VCE dumps Download

F. The port numbers of the cloned system should be different from the source system if both are on the same server.
Both the target andsource system would be online for the users at the same time.

Correct Answer: CEF

QUESTION 13

Which three statements are true? (Choose three.)

A. applterr.txt contains custom error messages.

B. adlinkbk.txt lists files that the AD Relink utility should back up, rather than delete.

C. adconfig.txt contains environment information about all ports used by Oracle E- Business Suite R12.

D. applprod.txt is a product description file, which is used to identify all products and product dependencies.

E. adalldefaults.txt is a template defaults file that contains entries for all defaults-enabled prompts in the AD utilities for
Oracle E-Business Suite R12.

Correct Answer: BDE

QUESTION 14

What are the two possible sequences of worker status while a job is being completed by a worker? (Choose two.)
A. Waiting => Assigned => Running => Completed

B. Assigned => Waiting => Running => Completed

C. Waiting => Assigned => Running => Failed => Fixed, Restart => Restarted => Completed

D. Assigned => Waiting => Running => Failed => Fixed, Restart => Restarted => Completed

E. Waiting => Assigned => Running => Failed => Fixed, Restart => Restarted => Running => Completed

Correct Answer: AC

QUESTION 15

The Oracle Applications R12 database administrator (DBA) runs the "Recreate grants and synonyms for APPS schema”
task by using the adadmin utility when grants or synonyms are missing from the database. Which three causes are
responsible for this? (Choose three.)

A. incomplete database migrations (exports or imports)

B. patch and administrative sessions that failed to run successfully to completion

C. invoking PL/SQL routines to maintain multilingual tables by adding missing, untranslated rows

D. installing or maintaining Oracle Applications R12 E-Business Suite underlying database components or options such
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as Replication

Correct Answer: ABD
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